NCERT Solutions for Class 11 Humanities Hindi
Chapter 2 - §39 &1 FEFIT AT G SGIaT BT SIS IHA

Question 1:

oIEeh A 310 Ui fARI & ST Trea-fareR qRee bt B, 9791 Iech STeTT-31eTT AfdRicd ot gieteh fHercl 2 |
5= ft 7 aifvrs R €, P

Answer:

iEreh 2t 310 T Ut TRt < AR ST A Yec T gS ot | 71 <1 aul d Sk Hed S wifies e 81 T8
o5 Sl R I AU R | T ST & | %P § TGHT & RN J G STHIAHR T E | IRIE b
e A &R faem et oft | afie T < Tadt o SR ST ST EeT o, o a8 feteneT 8l o |

I GRIu = S8 S § U o 31 | 59 e J T FH e T 1 g |

Question 2:

MY 39 9T D1 B hE Fhdl & b oIk T U areT I fI9 o Irg Tar?

Answer:

RGP & STQT B 7eg, 7 SN 95T 9 Ug T | I8 S0 (oG I8 0eH 3 A &1 o7 | I8 TRIA 81 11 3R

fep=ft & aTcriie e Rl AT | STeT Pt HY o S1E I8 s {1 e Q1T b HAR H &1 §a &M | &1l bt GRI
IAPH UEADR I8 Svo] P [aR IR AT &< | 39 TRE 98 31U qTal & U &1 HI7 3T MM el | 39
IR 1l | I Trera & fop S e 9§ fav @ o |

Question 3:

'IRIH T BATHR & | - 3T BT & eI U8 Ig el Sgenfed el a?

Answer:

G o1 AT B gg= el 2, A fRIaRepel1 @t el § IB! T8 hefl SR B AH 3 2 | Teb o
IR B! Pt § AN Todl B widhars § U g1 fafean o IR s e € | 3 =red & fob it
T 3T Tl H BN TV | ATCR oI &t 39 fafear at [Rifrly 3=t Feoic U= 91 UTel & | UXT detl §
G & AfIRad VAT dIs el o, T I8 foreR a9 81 | §9906 oy S S § 9 &9 @ieh el 8 |

Question 4:

S IR 33-33 *ft Aheet & MR BT BHATBR D b BHrdcmerdl | AfNeT Brar 82

Answer:

HhYS GobTH TR 9671 & d1Q 1 ST AT UfET o H ST ART &A1 ST &1 | I8 Toed Pl STt
fRITe I AT | TP 1 I8 U YUY AT ST bl 20 Thail H SbRl AT | 39 ORE I8 3
JTRIUT 3A-STH AT ISH-43 Tt ART b b ! IIT AT | A HeIe 3¢ HEaRTT, UedTelt Tret
U AT 18 1 AR} ISTH aTell HoTeR, ¥eia o 7RI @ a1t & Fad 4T i b8t & a2l T ¥opdl
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ST e AT | 9 Gged! et UfeT ¥t 9 g IR g & ot ot | S U foher Riwwe &
R BB 31 foheiTe =it 37 et YT AT TR & foam | St fhew 7 SN et Ufewr o forg
R femar |

Question 5:

RAR-URER & GRH ARIeh1 AR I cRiehl H 4T ds ST 87 U736 & 3MER R §al |

Answer:

RAR-IRAR P YR TRiep] AR GAT TAeh] H 95 Heb AT 8 | 37 R &b HGT AW 81 W8 | 3:
T H1ETF ¥ UET 957 IR B TS & | 39k IR AN o et #§ f R gand | A A
T 95 IR 1 1 2 | S} I [RAR-TRIR & fofg a1 0R fhed o dIwe” oY ST & qer rer #
&S 2t SO AT AT | I8 g RAR BRA & fold TR-R A el o | RigTe fOhed Pl RaR-RER
U & fopan T 7 | G Bl I A TRANT 819 aTet A BT UR AT F2t SRt @bt AR Bt
SR oft | T8 ER-ER H dier e o7 | 3 &, RIFArER], SHeR-UwR, $exAie, BT arS & 71w
T RPR Pl RAR {51 S 2 | 99 59 forg &gt 41 S1f¥ieh ol 2 eifehe1 |ART i 47 R 81 STl
2 | BRIHRHA ITATSID 39 GRAR Bt [THERT ldl & | $d [olQ ER-ER ST ! STa¥Idhal a8l Il & | I8
aMefiehe BT S & |

Question 6:

AT &b QRIS AT BT TARAT T8t BT AT? IIH 379 AT TSATT 37T 82

Answer:

efl & ORI AT el THRAT 31 TG TGl 8 | 319 A1 el i e foeh el & | U1 781 & feb Uged
AR DA Bt B el B A | AfH Uget I8 b a1 Ach AT 27 | IoT-TeRTSTRA g SRR IRt
3Mfe Bt SHaRT B IMHT IS BT DI BT AT | AfhT THI ST 8 | 31T oAl AT HeAThTR bl T
fopam STaT 2 | 3@ oY fRren & ot 3R A= 9 eI T @ | 3Nt I8 SHfaent b1 Ao AreF R | fAafs
AT TR HATRIR INTST ISP ATETH | U7 AT A1 hHT IS 2 | 37 3eH ff 398 S g1 2 | 9 931p
RRIG FATBRI P oo & 7 U1 URw, St qRIII S¥h Start &bt 2 /s 9grdl € | a8 Seien
2 o 37ahT T 3 8 | $9 ST UR 8F &8 dhdl & 10h dell ob GRIT @A T ASINaT 376 Ugel SidT el

g |

Question 7:

9 UTS § Tehal o Ul & AfRi bt iv-ahie At aTcl SURAR 3MTS 272

Answer:

9 UTS § Hehael o e & ferie bt faeferRRad a1l SHRepR oTs 2-

« Fehgt & AT =1 3T fob S1eT Bt 9 & @ W IhT 9 (Hiehet el T @1 R | SR+ S e e
P 8] fora | IBI IqehT SR NS H e faa | 39 uRect= A oiads 1 S1aT & g Bl Yol §
T D | THY Ul =l 2 [ T8 Ueh FHSIER 3R YR & ORA R dTet O o |
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o 3O 9 B RITUT B SBiH oe &l B T | STh URT qHLA 31 | 9 Bl el 2B a8 Db
B B Y SR I TEd &b Pbed A & S fo1q 3ifaet U o1 A 5 f2r | $9<Y Ul gofen & fob
T8 Holl &b TRE 3R JIAT Y 29— Tl 5919 o |

« IBI Aol b WS T Fraehx S ITaT T | 39 fory Saiv 3= utiRarRes el &t uRarg T8t
P | I U oAl 2 b a8 o &bt et & |
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